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Q1. WA | SIAETE o ATAT FHLA AT ATAT At Sfera de&dT fehaet g2
(@) 64000

(b) 67000
(c) 72000
(d) 70000
(e) 75000
L1Difficulty 2

QTags Bar Graph DI
QCreator Deepak Rohilla

Q2. FEEITAAT Tl ATAT HLA AT ITAT, ATNATL &l ATAT FIA AT ATHAT AT FhadT AT 52
(a) 120%

(b) 71.4%

(c) 140%

(d) 87.5%

(e) 175%
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QTags Bar Graph DI

QCreator Deepak Rohilla



Q3. FIHATK S FEEATAATT il THATHLT ATAT FIA AT ATHAT T AT 3 LA &7 AT
TAT FIA AT ATHAT H FTATT AT i Tor3|

(a) 33:32

(b) 33:34

(c)17:16

(d)1:1

(e)3:2
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QTags Bar Graph DI

QCreator Deepak Rohilla

Q4.§Wa?rwar@a1€ruﬁﬁ, FEATT T ATAT HLA ATl ATAT & Fohaar siaera siferss ar
FHE?

(@) 13=%

(b) 16-%

(0) 14—-%

(d)15=%

(€ 12=%

L1Difficulty 2

QTags Bar Graph DI
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Q5. FHATL ST LHATT Fl THATHT ATAT FlA ATl ATAT, AT SR AHATE il THATHRT FTAT LA

T AT F T Tiaera stfers a1 #7 g2
(a) 30000

(b) 50000

(c) 35000

(d) 40000

(e) 45000
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QCreator Deepak Rohilla

Q6. FITAATY, TEHATT 3T FEEATAATE Tl ITAT HLT ATA ATHAL HT IET AT LFHATE, AAT AT
TR T ATAT A AT ATCAAT & Ed & Heq fohaaT Fva< g2

(a) 10000

(b) 30000

(c) 15000

(d) 20000

(e)O
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QTags Bar Graph DI




QCreator Deepak Rohilla

Q7. BECE F BIEHT, T £ AT 105 Pl 9FF T § o sET wfd w7 98 Fnfr afy ser &,
9 fa "¢ fae e & g st 82

(a) 4

(b) 6

(c)5

(d)7

(e) 2
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Q8. fgl 25 A&t T faswd oo 30 FETSH ol ANTT Yo & THA @, TTH ATH Terq Fohaar 872
(a) 25%

(b) 20%
(9) 30%
(d) 10%
(e) 40%
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Q9. &= &1 F T 10% a1+ 3T & 5000 FIY it T 9 Fwgfeg sATT A1q HIforg)
(a)1565 =qU

(b)1445 =qU

(c)1210 =9T@

(d)1655 =qU

(e) 1855 =qU

L1Difficulty 2

QTags Compound Interest
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Q10. T & & 12 T2V i 18 AfFATY 10 =7 & =7 T Tt &, T T 27 27 AfgAmsi &
AT T HL THAT § 3N TH AIGAT &7 TFI % GHIT HA F G’ &, T 6 T2 ST 6 g T
T &l G HLA | Toha [T G0 A2

(a) 32 fa=

(b) 26 fa=

(c)30 famr

(d) 28 fa=r

(e) 24 fa=

L1Difficulty 2

QTags Time And Work



QCreator Deepak Rohilla

Directions (11-15): Fafrfaa s # weEm=s e (7) F S\ 9 FT AGATET A SAET
HTfRU-

Q11.14.8 x 12.3 + 33.3 X 36.8 =7
(a) 1400

(b) 1500

(c) 1450

(d) 1320

(e) 1520
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QTags Approximation

QCreator Deepak Rohilla

Q12.153 + 3.1+ ﬁ — 81+ 4.9 =72
(a) 2

(b) 5

(7

(d)3

(e) 4

L1Difficulty 2

QTags Approximation
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Q13.24.80%0f199 — 22.3%0f249 + 497 =7x 10.8
(@) o

(b) 2

(c)3

(d)1

(e) 5
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QTags Approximation

QCreator Deepak Rohilla

Q14.V1765 + 99%o0f444.6 =7x 71 — 3.02
(@) 5

(b) 12

(c) 17

(d)7

(e) 13

L1Difficulty 2

QTags Approximation

QCreator Deepak Rohilla



Q15.12.57 X 18.2 + 4.57 + 10.01? =73+ 86.2
()1

(b) 5

()7

(d)2

(e) 4

L1Difficulty 2

QTags Approximation

QCreator Deepak Rohilla

Solutions

S1. Ans (b)

. 75+65+70+75+ )x1000 _ 335000
Sol. Required average = ¢ ) =

5 5
= 67000

S2. Ans (c)

Sol. Required percentage = 7009

50000

X 100 = 140%

S3. Ans (a)

: . 95000+70000 _ 165000
Sol. Required ratio = =

75000485000 160000

=33:32
S4. Ans (d)
Sol. Required percentage = % x 100
_ 10099 x 100 =15 > %
~ 65000 713”7
S5. Ans (d)

Sol. Required difference = (95000 + 85000) — (65000 + 75000)
= 180000 — 140000 = 40000

S6. Ans (e)

. . 75000+65000+70000 75000+50000+8500
Sol. Required difference = —

3 3
210000 210000
== — =

S7.Ans.(a)

Sol. Stoppage time per hour =
_ (Speed of bus without stoppage—Spee of bus with stoppage

X 100
Speed of bus without stoppage )

_105-98
~ 105

X 60



=4 min.

S8. Ans(b)
Sol. AT.Q
25 X S.P of an article= 30 X C.P of an article

SP 6

CP 5 )

~ required percentage = T X 100 = 20%

S9. Ans (d)
Sol.
ATQ,

3
S

= 5000[(1 + %)3 - 1]
=5000(%— 1)

=5000x 2L
1000

=Rs.1655

S10. Ans.(d)

Sol. Ratio of efficiency of man, woman achild=4:2:1

© (12M + 18W) — 10 days

= (12 x2 +18) W — 10 days

= 42W — 10 days

=42 x 2 C— 10 days

One child will complete the work in — 84 x 10 = 840 days
And, 1M = 4C

~ (6M+6C) = (24+ 6) C=30C

~ Required no. of days = % =28 days

S11. Ans(a)
Sol.15 x 124+ 33 x 37 =?
180 + 1221 =?

7~ 1400
S12. Ans(d)
301.15+3x5—§z?2
25 — 16 ~72
?7~+/9

7=

S13. Ans(a)



Sol. 22 x 200 — 22 x 250 4+ 5 ~7x 11
100 100

50 —55+5 =?x 11
7= 0

S14. Ans(d)

Sol. V1764 + % X 445 + 3 =7% 70

42 + 448 =?x 70
) 490

T 70
7=7

S15. Ans(e)

501.%'55 x 18 + 100 ~?3+ 86

50 + 100 — 86 ~73
7~ V64

7= 4



